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1 × 10 = 2 × 10 =

3 × 10 = 4 × 10 =

5 × 10 = 6 × 10 =

7 × 10 = 8 × 10 =

9 × 10 = 10 × 10 =
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20 10

40 30

60 50

80 70

100 90
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11 × 10 = 12 × 10 =

13 × 10 = 14 × 10 =

15 × 10 = 16 × 10 =

17 × 10 = 18 × 10 =

19 × 10 = 20 × 10 =
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120 110

140 130

160 150

180 170

200 190
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23 × 10 = 27 × 10 =

31 × 10 = 35 × 10 =

39 × 10 = 44 × 10 =

50 × 10 = 52 × 10 =

59 × 10 = 63 × 10 =
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270 230

350 310

440 390

520 500

630 590
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68 × 10 = 70 × 10 =

75 × 10 = 79 × 10 =

83 × 10 = 88 × 10 =

99 × 10 = 120 × 10 =

165 × 10 = 172 × 10 =
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700 680

790 750

880 830

1200 990

1720 1650


